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TR 264E
Jm b —RRE2 P
X 4) - BEERK ) _EH
ek | FBaRE — e ZETSH| mEE | Bw RRE | B BE —H% | FEERER | RERE |R2ERTH
%) | mk bmbn (rﬁg) %) | wmEK | mE | BE | BE | BEK
B

ERE 131 15 116 58 | 24,190 4842 46 74 4066 | 15,162 1,561 1,076 1,020
1EA 14 — 14 10 2,622 372 4 - 450 1,796 146 56 102
INEETH 3 — 3 1 738 260 - - 42 436 29 43 19
&A™ 7 - 7 5 1,427 112 4 - 248 1,063 74 13 53
/N T 1 - 1 1 99 - - - 49 50 2 - 3
1% A R HT 1 - 1 1 97 - - - 45 52 6 - 4
N E#t - - - - - - - - - - 2 - 1
At - - - - - - - — — — 4 - 1
EHEARA - - - - - - - - - — 1 - -
LR - - - - - - - - — - 1 - -
B HIRHET 1 - 1 1 103 — — - 24 79 17 - 12
{iE0 4% R AT 1 - 1 1 158 - - - 42 116 6 - 6
L THET - - - - - - - - - - 4 - 3
L 16 3 13 7 2,628 557 4 - 885 1,182 120 187 89
LtHH 13 2 11 7 2,327 456 4 - 885 982 100 149 76
R{E™H 2 1 1 - 161 101 - - - 60 15 38 10
EF0ET 1 — 1 - 140 — — - - 140 3 - 2
FARH - - - - - — — - - - 2 - 1
BBl 13 1 12 6 2,105 317 4 - 287 1,497 145 139 96
RS 4 - 4 2 686 210 4 — 92 380 35 66 27
REAT 4 1 3 2 628 107 — - 96 425 43 25 28
EX I 1 — 1 1 360 — — - 45 315 39 33 20
TEREAET 3 - 3 1 270 — — - 54 216 15 - 14
E1TRH 1 — 1 - 161 — — - - 161 9 15 4
[R#t - - - - - — — - - — 4 - 3
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L1FHB 10 3 7 3 1,604 330 4 318 952 133 52 83
FBHh 4 1 3 2 780 116 4 210 450 55 11 38
En/r iR h 3 1 2 - 475 129 - — 346 32 26 13
R ETET 1 - 1 - 100 - — - 100 15 - 12
H &R T 1 - 1 1 164 - - 108 56 13 - 8
B 5 T - - - - - - - - - 5 - 4
A E Em A 1 1 - 85 85 - - - ) Z 3
o)1 % - - - - - - - - - 2 = 1
= HEF - - - - - - - - - 3 15 4
R {F 10 — 10 6 1,790 240 4 463 1,083 134 66 83
fRETH 7 - 7 4 1,482 240 4 361 877 88 47 62
¥ )1 BT 1 — 1 1 112 — — 46 66 6 - 5
= #xAT 1 — 1 1 111 — — 56 55 7 - 5
e] g T 1 — 1 — 85 — — - 85 5 - 2
BAT 5 4 - - - - - - - — — 10 19 1
EAH - - - - - - - - - 1 - -
B FH - - - - - - - - - 1 - -
TEH - - - - - - - - - 2 - 1
FEAH = - - - = - - = - 1 - 1
XEER - - - - - - - - - 2 - -
REH - - - = - - - - — 2 - 1
BARH - - - - - - - - — 3 — 2
SR = - - - - - - = - 3 = 3
KEH - - - - - - - - - 3 - -
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XE — 1 259 — 4 48 207 19 - 12
N /N - - - = - — - - - — 4 - 1
EASHE - - - - - - - - - - 2 - 1
AEHE 1 - 1 1 259 — 4 - 48 207 8 - 8
A = - - - = - - = = - 2 - 1
EiEH - - - - - - - - - - 1 - -
REFH - - - - - — - - - — 2 - 1
A 27 5 22 8 5,128 1,183 6 50 495 3,394 363 209 224
WAR™ 17 3 14 4 3,751 843 6 50 248 2,604 227 107 142
ERT 5 - 5 3 409 - - - 199 210 39 28 32
ZEHH 5 2 3 1 968 340 — - 48 580 85 74 42
RRAERT - - - - = = - - - - 2 - 1
A - - - - - - - = = - 1 - 1
Wt - - - = - — - - - - 5 - 3
EIEE - - - - = = = - - - 1 - 2
AL - - - - - — - - - - 3 - 1
Xit 2 — 2 1 609 120 4 — 50 435 51 45 23
KETH 1 — 1 1 267 - 4 — 50 213 28 26 10
;i FHET 1 — 1 — 342 120 — — — 222 7 — 3
NIIES] - - - - - - - - — — 7 - 5
BEH - - - - - — — - - - 7 19 4
INS KT - - - - - - - - - - 2 - 1
EF 35 3 32 15 6,518 1,531 8 24 1,032 3,923 392 269 274
E&HHh 26 2 24 9 5,055 1,435 4 — 638 2,978 287 229 212
AR 2 - 2 1 437 - 4 24 76 333 41 36 24
Tl 4 1 3 2 611 96 - - 158 357 37 - 21
YRR ET - - - - - - - = = - 10 - 5
ANiivii:ig 1 — 1 1 155 — — - 59 96 6 - 4
= LA - - - - - - - = = - 3 4 1
E2HT 1 - 1 1 99 — — - 50 49 3 - 3
Bl 445 BT 1 - 1 1 161 - - - 51 110 4 - 3
INIFE - - - - - - - - - - 1 - 1
L& 3 - 3 1 927 192 4 - 38 693 58 53 34
th ¥ h 2 — 2 1 627 192 4 - 38 393 28 36 21
R 1 - 1 - 300 - - - - 300 14 - 6
/A HET - - - - - - - - — — 4 — 4
RAEFH - - - - - — - - - - 4 - 1
FpiRUR R T = - - - - - - = = - 5 17 1
EX D) - - - - - - - - - — 3 - 1
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